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1) BiEH - ARIELRR

H Rl A = 1 A& R
& 1 4H 5H 6H 7H 8H 9H 104 114 121 1A 2H 3H T ()
O & 5,930 @ 5,994 6,180 6,422 @ 6,693 | 6,313 6,977 6,552 @ 6,138 | 5,994 6,416 6,870 | 76,479 70 33
i ) Fa | 5,543 5,387 4,474 4,951 @ 5,276 5,133 6,180 @ 5,426 = 6,144 5,564 4,857 @ 5,339 | 64,274 59 28
N i ) £ 84 150 81 113 137 55 150 100 160 156 159 141 | 1,486 1 1
7 # 11,557 11,531 10,735 11,486 12,106 11,501 13,307 12,078 | 12,442 11,714 11,432 12,350 |142, 239 130 62
How s ok £ 308 278 312 234 219 78 208 328 357 350 284 199 | 3,155 3 1
i I & 1,793 1,620 1,578 1,127 @ 1,044 1,156 1,645 1,740 @ 1,879 = 1,751 2,165 1,667 | 19,165 18 8
i % ey 168 164 235 321 217 133 75 195 189 195 274 262 | 2,428 2 1
e i iy 164 185 270 237 171 215 389 268 405 194 180 303 [ 2,981 3 1
i iF i £ 442 311 302 502 384 424 351 399 456 430 596 536 | 5,133 5 2
o /O | A 0 0 21 0 0 0 0 0 0 0 0 8 29 0 0
AR g A 19 31 4 0 14 84 32 0 15 0 0 0 199 0 0
. B i = 270 356 396 198 300 390 303 108 113 63 279 566 | 3,342 3 1
e B ML JE & 647 820 674 499 391 378 471 259 238 391 345 652 | 5,765 5 3
T om E & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) i Ja = 0 0 3 16 0 0 0 0 0 0 0 0 19 0 0
® o o A & 1,151 1,508 1,423 1,021 1,290 1,139 573 629 781 943 1,070 1,292 | 12,820 12 6
BRI B R N B & 517 548 744 314 216 265 431 179 488 535 659 855 | 5,751 5 3
£ 7N 5,479 5,821 5,962 4,469 @ 4,246 4,262 @ 4,478 4,105 @ 4,921 = 4,852 5,852 6,340 | 60,787 56 27
BB FR R FE NS A 469 572 657 950 712 643 836 714 834 886 738 443 | 8,454 8 4
3 B 7L £ 158 70 32 35 14 30 16 41 212 158 26 99 891 1 0
T 3 £ 0 0 9 0 2 0 0 0 0 0 0 0 11 0 0
i ® ®m & R 0 10 25 0 0 0 0 0 0 0 0 0 35 0 0
I — K H R A 137 100 229 83 164 133 162 111 124 101 89 103 | 1,536 1 1
e 7V — v & 18 49 103 160 91 40 23 52 87 54 28 111 816 1 0
S T £ 1,304 1,358 944 1,081 968 = 1,528 1,303 1,063 1,016 1,161 945 |« 1,416 | 14,087 13 6
7N 2,086 2,159 1,999 2,309 1,951 2,374 2,340 1,981 @ 2,273 2,360 1,826 2,172 | 25,830 24 11
& &t 19,122 19,511 18,696 18,264 18,303 18,137 20,125 18,164 19,636 18,926 @ 19,110 20, 862 |228, 856 209 100
— B S E B 212 210 208 196 197 202 216 202 211 204 228 224 209
(10 F4)
il ¥ A B[ 155 105 77 152 114 130 131 151 209 127 126 176 | 1,653 5 |
T — %ﬁ D)
il G b
4 b 4H 5H 6H 7H 8H 9H 104 114 124 1A 2H 3H B oE B s 3 1 B
1 N 1 HbED 798 741 785 736 804 748 755 757 770 843 724 785 61, 645, 999 770
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2) REHREREAK

(ENE S Tt (HA7 2 AN)
- ik 971 2A aak |
VR 45 32 50 38 40 36 1 22 57 40 45 63 499 41.6
B PRI ML E 5 5 9 5 4 5 4 2 1 1 2 2 45 3.8
PEIRIE + & OFIE 1 0 0 0 0 0 0 0 0 0 0 1 2 0.2
B UIBRIRT - I 11 17 16 14 15 22 15 19 13 14 14 19 189 15.8
itk £ 4 1 4 0 2 1 1 2 2 2 3 3 25 2.1
TN 0 1 0 1 0 1 0 1 2 0 1 0 7 0.6
NHZER - HA 0 0 0 0 0 1 1 0 1 0 0 0 3 0.3
NS 0 1 1 0 0 0 2 2 3 1 1 1 12 1.0
B M £ 3 3 5 5 10 7 6 2 6 5 6 9 67 5.6
AL A 1 1 1 0 0 1 4 2 1 5 2 1 19 1.6
KIGHi% & 9 3 4 3 2 2 2 5 7 5 4 5 61 5.1
(=R k=1 =y 0 2 0 0 1 0 1 1 1 2 0 1 9 0.8
N 0 0 1 0 1 1 1 2 0 1 1 2 10 0.8
BT DR 993 0 1 2 1 4 1 1 0 1 0 1 0 12 1.0
RaE T - R 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
£ I /M 5y i PR 1 5 1 3 0 1 4 2 1 3 2 6 29 2.4
REE S50 5 0 6 6 2 3 1 1 1 2 0 3 30 2.5
s 0 1 0 0 0 2 1 2 1 1 1 0 9 0.8
RE Rl BR 1 0 0 2 1 4 2 1 0 0 1 1 13 1.1
IR - IR R IR 0 1 0 2 0 0 0 1 0 0 1 0 5 0.4
TR ME KRG 0 0 2 1 1 0 0 0 2 1 1 1 9 0.8
7a— Y5 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
IRF R 2 0 0 2 0 1 0 0 0 0 0 0 5 0.4
KIGEREE R 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
BREE - MR R IRIE 0 0 0 0 0 0 0 0 0 1 0 0 1 0.1
Z Dt 1 4 2 5 1 1 0 1 1 1 0 3 20 1.7
Rk s 89 8 88 84 0 87 68 85 36 1 1,081 90. 1
14 P AR BOBRAT /< 2 5 5 9 7 4 4 3 3 6 5 5 5 61 5.1
EES A 3 0 4 1 2 0 3 4 1 5 1 0 24 2.0
JEWEBE T A0 24 i/ < A 12 8 8 0 10 5 16 15 7 14 8 14 127 10. 6
B ANG RS T A R <= 3 2 1 1 1 4 2 1 2 17 1.9
[BY7 D] GRS N ARSERS LT/ <2 1 1 3 1 4 3 0 2 0 0 2 0 17 1.4
ERCP/% % 5 1 1 2 1 3 3 2 0 2 2 1 23 1.9
JH e ges B Bl - < 2 2 0 1 2 1 0 0 0 0 1 0 2 9 0.8
IR ME I B BRI - 2 1 0 2 1 2 2 0 0 0 1 1 1 11 0.9
HAEBRE Je B Bl /< & 0 0 0 0 0 1 3 0 0 1 3 1 9 0.8
ER AR B BRI S R 1 2 0 0 0 0 1 0 0 0 0 0 1 0.3
+ AR R LR B Rt S R 3 0 0 0 0 0 0 0 0 0 0 0 3 0.3
[ B SRR B BR AT~ < A 0 0 0 0 0 0 2 0 0 0 0 0 2 0.2
R PAZE S X 2 1 2 1 0 1 1 1 1 2 0 2 14 1.2
2 b~ PAgHAT <A 1 0 0 0 2 0 0 3 1 0 0 0 7 0.6
ETHLE AL (PRAFAORRE) /SR 0 0 0 0 0 0 0 2 0 2 0 0 4 0.3
KIGHE A A8 B BRI 2 < 2 1 0 1 3 0 0 0 0 0 1 1 0 7 0.6
KB e - B BIBRAT /< A 0 0 0 2 0 0 0 0 0 0 1 2 5 0.4
T B A 51T 7 BIBRAR 2 < R 0 0 2 1 0 1 0 0 2 0 1 3 10 0.8
TEREE 7lT 7 B Bl 2 < & 0 0 0 0 0 0 0 1 0 0 1 1 3 0.3
PEIESE TR R B BRI 2 < 2 10 10 6 3 5 7 9 6 12 8 4 7 87 7.3
JEESE T ELRG Ai T B BRI < 2 5 3 0 3 1 3 8 5 0 0 2 2 32 2.7
MEIESE T B AR B 5 BIBRTR /< A 2 1 3 5 12 3 3 2 6 3 0 2 42 3.5
FFENIRIEFR R IE /R A 4 2 4 4 1 3 2 3 4 2 6 2 37 3.1
JEAERRA VBT 20238 A /R 0 4 2 3 1 0 0 1 0 1 3 0 15 1.3
FRREIE ) 7" 5B S & 2 0 1 3 1.0
PRI ZE ANt/ XA 4 5 5 6 19 8 90 9.0
PEG/S A 1 1 1 1 0 0 0 0 6 0.5
D T — T VA A 2 0 1 6 1 2 5 4 30 2.5
R B2 O LB AIRAE B AT~ < A 0 0 0 1 2 3 2 2 13 1.1
T RE LI e BT - < 2 6 4 4 4 3 2 4 4 45 3.8
B IEEERENR T T Bl S A 0 0 0 0 0 0 0 0 2 0.2
7 = H A RAFREAE 65 72 66 759 66. 0
BERE R R PR Jp5 B 38 20 34 340 28.3
BRI B PR 22 3 7 4 63 5.3
B[R] i i A 10 8 12 117 9.8
BRI 0] B e 2 3 3 8 59 4.9
BB BT R B 3 3 5 72 6.0
SRR B £ 2 3 5 49 4.1
ABERFR)E RS A 5 59 44 68 700 58. 3
(5 &R BE R 18 17 28 179 14.9
R - Ak
Wi PRI 2= 0 15 41 3.4
BHLERIE S ok 3 6 78 6.5
(52 R E 1 0 16 1.3
AL 12 109 9.1
| R & it | 252 2,963 | 249.6
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